EAST POINT SCHOOL

CLASS-VII
ONLINE CLASSES WORK PLAN (AUGUST —~WEEK-3)

ENGLISH
VERBS:
VIDEO LINK:- https://www.youtube.com/watch?v=IH13LFL(Q288

LEARNING OBJECTIVE:-

1) Vocabulary enhancement

2) Detailed knowledge of types of verbs and its usage.

3) The students will be able to identify different types of verbs

are
‘doing’ or “action’

Most people sleep at night.
words.

‘Walk, don’t run!’ says the teacher.
Bianca ate her lunch, then played hopscotch.
Will you remember school when you grow old?

That burglar alarm has been ringing for 10 minutes.
| will call the police.
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https://www.youtube.com/watch?v=lH13LFLQ288
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TRANSITIVE VERBS:-
€

A verb that needs an object to complete its meaning is called a transitive verb.

Examples:
He asked a question.



Verb-asked

Object-a

question

He offered food to the

beggar. Verb-offered
Object-food

INTRANSITIVE VERBS:-
€

A verb that does not require an object to complete its meaning is called an
intransitive verb.

Examples

The girl smiled.

The eagle has landed

EXERCISES:-

State whether the verbs in the following sentences are used transitively or intransitively.

Heat expands metals.

Metals expand on heating.

The driver stopped the car.

The car stopped abruptly.

You must speak the truth.

You must speak loudly.

The boy is flying the kite.

The birds are flying in the sky.

The rider fell off the horse and broke his arm.
0. The woodcutter felled a huge tree.
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ACTIVITY:-

Damsharas- CLASS ACTIVITY:- Write your favorite verb on a piece of paper
and express through gesture, let the other person guess the verb and make a
sentence on the same.
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VIDEO LINK:
https://www.youtube.com/watch?v=1LHFYKb3glc
https://www.youtube.com/watch?v=gF ntwWQhWA
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MATHS

CHAPTER- THE TRIANGLE AND ITS PROPERTIES AND
ALGEBRAIC EXPRESSIONS
NOTES
Video Link: https://www.bing.com/videos/search?q=VIDEOS+ON+CHAPTER-
+TRIANGLE+AND+ITS+PROPERTIES+CLASS+VII&ru=%2fvideos%2fsearch%3fg
%3dVIDEOS%2bON%2bCHAPTER-
%2bTRIANGLE%2bAND%2bITS%2bPROPERTIES%2bCLASS%2bVI1%26FORM%
3dHDRSC4&vie

LEARNING OBJECTIVES

1.Students will be able to identify Pythagorean triplets

2.Students will be able to define variables and constant.

3.Students will be able toidentify the terms and factors in the algebraic
expressions.

TRIANGLE AND ITS PROPERTIES (CONTINUED)

Sum of the Lengths of Two Sides of a Triangle

The sum of the lengths of any two sides of a triangle is greater than the third side.
A

AB+BC > AC
AB+AC>BC
BC+AC> AB

Right-Angled Triangle and Pythagoras Property

A triangle whose one angle is a right-angle is called a right-angled triangle. The side
opposite to the right angle is called the hypotenuse, the other two sides are known as the
legs of the right-angled triangle.
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B
B

AC?= AB?+BC?
Kindly go through this video on algebraic expressions

https://www.bing.com/videos/search?g=videos+on+chapter-
algebraic+expression+class+vii&&view=detail&mid=8577D60A3CB774A512578577D
60A3CB774A51257&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3Dvideos
%2Bon%2Bchapter-

algebraic%2Bexpression%2Bclass%2Bvii%26 FORM%3DHDRSC4

Algebraic Expressions

An Algebraic Expression is the combination of constant and variables. We use the
operations like addition, subtraction etc to form an algebraic expression.

Variable

A variable does not have a fixed value .it can be varied. It is represented by letters like a,
y, p m etc.

Constant
A constant has a fixed value. Any number without a variable is a constant.

Example
2X + 7

Here we got this expression by multiplying 2 and x and then add 7 to it.
In the above expression, the variable is x and the constant is 7.

Terms of an Expression

To form an expression we use constant and variables and separate them using the
operations like addition, subtraction etc. these parts of expressions which we separate
using operations are called Terms.
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4¢ -y +7
In the above expression, there are three terms, 4x, - y and 7.

Factors of a Term

Every term is the product of its factors. As in the above expression, the term 4x is the
product of 4 and X. So 4 and x are the factors of that term.

We can understand it by using a tree diagram.
Expression —ab + 2b* -
|

Terms -ab bz

l

-1 a p 2 bb—lsa a

Coefficients

As you can see above that some of the factors are numerical and some are algebraic i.e.
contains variable.The numerical factor of the term is called the numerical coefficient of
the term.

Expressions Meaning Example
Monomial Any expression which has only one term.  5x?, 7y, 3ab
Binomial Any expression which has two, unlike 5x%+ 2y, 2ab —

terms. 3b

Any expression which has three, unlike 5x%+ 2y + 9xy,

Trinomial terms. X+y-3

_ Any expression which has one or more 5x%+ 2y + Oxy
Polynomial terms with the variable having non- +4 and all the
negative integers as an exponent is a above



polynomial. expressions are

also
polynomial.
2x +4y -9
|\-"arizh|ﬂ| |l."nn.\it:|nt|
Terms — 21x, 4y, 9
Monomials, Binomials, Trinomials and Polynomials
Algebraic Expression
| Coefficient ‘
1
2
X<+ 2y +9xy +
Monomial | Variable Constant
Binomial
Trinomial
WORKSHEET

QL.In figure (i) and (ii), Find the values of a, b and c.



(ii)
INCERT Exemplar]

Q2. One of the exterior angles of a triangle is 120° and the interior opposite angles of it
are in the ratio 4 : 2. Find the angles of the triangle.

Q3. From the adjoining figure, find the value of x and also the measures
of £P,2Q and «R

Q4. An iron rod 5m long is placed against the wall in such a way that the foot of the rod
is 3m away from the wall. Find how high the top of the iron rod reaches in the wall ?
Q5. Which of the following triplets cannot be the angles of a triangle?

(a) 67°,51°, 62°

(b) 70°, 83°, 27°

(c) 90°, 70°, 20°

(d) 40°, 132°, 18°

Q6. In a right-angled triangle ABC, if angle C = 90°, then which of the following is true?
(a) AB>=BC?+AC?
(b) AC>=AB*+BC?



(c) AB=BC + AC
(d) AC = AB + BC

Q7.Write down the numerical and literal coefficient of each of the following monomials:

i. =5/ 9x3y
ii. —8x%y?z?
iii. 6/ 13abc?

Q8.

Draw a tree diagram for
i. —7x2+15xy

ii. 4a%b%+3a

iii. 15xy+11z22

ACTIVITY: To show Pythagoras theorem by paper cutting and pasting method.



SCIENCE

NUTRITION IN ANIMALS

LEARNING OUTCOMES:

1.Students are able to understand the various steps of nutrition in Amoeba

2. Students are able to state and explain the process of digestion in ruminants.
VIDEO:
https://youtu.be/XPGoVOW7J8U?list=RDCMUCDNSAMGR|NY jhiJlIfvsh5Fw

Digestion in grass eating animals

o

Grass eating animals like cows, buffaloes are called ruminants because they have a
separate part of stomach called rumen. They quickly swallow the grass and is stored in
rumen where it is partially digested forming cud.

Rumination is the process by which cud returns to the mouth in small lumps and then
the animal chews it.

Grass contain cellulose which is digested by special bacteria present in a sac like
structure located between small intestine and large intestine.

Mode of feeding and digestion in amoeba

@)

Amoeba is a microscopic single-celled organism found in pond water which has a cell
membrane, a round, dense nucleus and many bubble like vacuoles.

The shape of amoeba is variable.

It has tiny finger like projections called pseudopodia or false feet for movement and
capture of food.

It eats tiny organisms by spreading out its pseudopodia around its food particle and
then engulfing it.

The food gets trapped inside food vacuole, into which digestive juices are secreted and
convert them into simpler substances.

The digested food is then absorbed which is required for growth, maintenance and
multiplication.

The undigested food is expelled out by vacuole.

=y Pseudopodia
Food = p

q.\__ (R { - '\\\

’ s - St - B
(’/Oo (- * - —> °°. o))
\ @ o < ) N e = .\///. - - .\;’,

————— \ / _,//’ N— \\/ o~
Ingestion Digestion
[ ( \ -
= i '\.F\.\\-J/\\i/\ - \ ~
o ° e ) = P ) = SN
<—</-O f?_»\//<—(/-°_\ﬁ’/
/ ‘/_ ./ & — e & - e O )
& - O L
Egestion Assimilation Absorption

ASSIGNMENT:


https://youtu.be/XPGoVQW7J8U?list=RDCMUCDN8AMGRjNYjhiJIfvsh5Fw

What is rumination?

Name the parts of Amoeba which help it in moving and capturing food.
How is the process of digestion different in ruminants?

Draw a labelled diagram showing nutrition in Amoeba.

P wbhe

ACIDS BASES AND SALTS

Acids and bases

The substances that taste sour are called acid and their nature is acidic. The term acid is
derived from a Latin word acere which means sour. Examples of acidic substances are

Curd containing lactic acid, lemon juice and tomato containing citric acid, and vinegar

containing acetic acid.

Fig. Lemon juice, tomato, vinegar

The substances that taste bitter are called base and their nature is basic. They are slippery
to touch. Example: baking soda containing sodium hydrogen carbonate, Milk of magnesia,
Soaps, Lime water containing calcium hydroxide, Household cleaners.

Fig. Baking soda, milk of magnesia
ACTIVITY:

Students will prepare a presentation on acids and bases with regards to these specific
criteria:

a. What are acids?

b. What are bases?

c. How do they affect our taste buds?

d. Insert your own findings on acids and bases.



SOCIAL
STUDIES
Geography Chapter — 4 Air

Learning Objective - Students will learn about the Layers of Atmosphere, Temperature and
Air — pressure.
Video Link: https://www.youtube.com/watch?v=VThdaxgqcQmA

CHAPTER SUMMARY

Atmosphere
« A huge blanket of air that surrounds earth is called atmosphere.

» It provides us the air we breathe and protects us from the harmful effects of the sun’s rays which
Is essential for our survival.

Composition of the Atmosphere

* Nitrogen and oxygen are two gases which make up the bulk of the atmosphere.

« Carbon dioxide, helium, ozone, argon and hydrogen are found in lesser quantities.
* Apart from these gases, tiny dust particles are also present in the air.

« Percentage of different constituents of air:
— Nitrogen: 78 %

— Oxygen: 21 %

— Argon: 0.93 %

— Carbon Dioxide: 0.03 %

— All Others: 0.04 %

* Nitrogen:

— Plants need nitrogen for their survival. They cannot take nitrogen directly from the air.
Bacteria, that live in the soil and roots of some plants, take nitrogen from the air and change its
form so that plants can use it.

» Oxygen:

— Humans and animals take oxygen from the air as they breathe.
— Green plants produce oxygen during photosynthesis which make oxygen content in the air
remains constant.

» Carbon Dioxide:



https://www.youtube.com/watch?v=VThdaxqcQmA

— Green plants use carbon dioxide to make their food and release oxygen.

— Humans or animals release carbon dioxide which is equal to the amount used by the plants
which make a perfect balance.

— However, the balance is upset by burning of fuels, such as coal and oil which result in
increased volume of carbon dioxide that affecting the earth’s weather and climate.

Structure of Atmosphere

» Atmosphere is divided into five layers starting from the earth’s surface:
— Troposphere

— Stratosphere

— Mesosphere

— Thermosphere

— Exosphere

Troposphere

* Most important layer as the air we breathe exists here and almost all the weather phenomena like
rainfall, fog and hailstorm occur in this layer.

« Its average height is 13 km.

Stratosphere
« It lies above the troposphere.
* It extends up to a height of 50 km.

* This layer is almost free from clouds and associated weather phenomenon, making conditions
most ideal for flying aeroplanes.

« It contains a layer of ozone gas which protects us from the harmful effect of the sun rays.
Mesosphere
* Third layer of the atmosphere which lies above the stratosphere.

« It extends up to the height of 80 km.
» Meteorites burn up in this layer on entering from the space.

Thermosphere
» Temperature rises very rapidly with increasing height in this layer.



* lonosphere is a part of this layer.

* It extends between 80-400 km.

* This layer helps in radio transmission.

Exosphere

* The upper most layer of the atmosphere is known as exosphere.

* This layer has very thin air.

* Light gases like helium and hydrogen float into the space from here.
Weather and Climate

» Weather is this hour-to-hour, day to day condition of the atmosphere.
— It can change dramatically from day to day.

» The average weather condition of a place for a longer period of time represents the climate of a
place.

Temperature
* The degree of hotness and coldness of the air is known as temperature.

* The temperature of the atmosphere changes not only between day and night but also from season
to season.

« Insolation is an important factor that influences the distribution of temperature.

— Insolation is the incoming solar energy intercepted by the earth.

— The amount of insolation decreases from the equator towards the poles. Therefore,
the temperature decreases in the same manner.

» Temperature in cities is much higher than that of villages.

— The concrete and metals in buildings and the asphalt of roads get heated up during the day
which is released during the night.

Air Pressure

« Air pressure is defined as the pressure exerted by the weight of air on the earth’s surface.
* The air pressure is highest at sea level and decreases with height.
— Horizontally the distribution of air pressure is influenced by temperature of air at a given place.



» Where temperature is high the air gets heated and rises which creates a low-pressure area.
— Low pressure is associated with cloudy skies and wet weather.

» Where temperature is low, the air is cold and therefore, heavy. Heavy air sinks and creates a high
pressure area.
— High pressure is associated with clear and sunny skies.

* The air always moves from high pressure areas to low pressure areas.

wind

» The movement of air from high pressure area to low pressure areas is called wind.
* Winds can be broadly divided into three types:

— Permanent winds: The trade winds, westerlies and easterlies are the permanent winds. These
blow constantly throughout the year in a particular direction.

— Seasonal winds: These winds change their direction in different seasons. For example
monsoons in India.

— Local winds: These blow only during a particular period of the day or year in a small area. For
example, land and sea breeze.
The hot and dry local wind of northern plains of India is called loo.

Moisture

* When water evaporates from land and different water bodies, it becomes water vapour.

* Moisture in the air at any time, is known as humidity.— When the air is full of water vapour we
call it a humid day.

* As the air gets warmer, its capacity to hold the water vapour increases and so it becomes more
and more humid.

* When the water vapour rises, it starts cooling.

— The water vapour condenses causing formation of droplets of water. Clouds are just masses of
such water droplets.

— When these droplets of water become too heavy to float in air, then they come down as
precipitation.

— Precipitation that comes down to the earth in liquid form is called rain.



* There are three types of rainfall:
— the convectional rainfall

— the orographic rainfall

— the cyclonic rainfall

 Importance of Rainfall:
— It is very important for the survival of plants and animals.
— It brings fresh water to the earth’s surface.

« If rainfall is less — water scarcity and drought occur. On the other hand, if it is more, floods take
place.

Activity: Make a PowerPoint Presentation on Layers of Atmosphere (at least 6 slides) and upload
it on MS Teams.

WORKSHEET
(i) Define atmosphere. (1)
(if) Which two gases make the bulk of the atmosphere? (1)
(iii) Which gas creates greenhouse effect in the atmosphere? (1)
(iv) Define weather. (1)
(v) Name three types of rainfall. (1)
(vi) How does carbon dioxide create greenhouse effect? (1)
(vii) What is the significance of greenhouse gas? (1)
(viii) Define insolation. (1)
(ix) What is the hot and dry wind of northern plains of India called? (1)
(x) Define wind. Mention its different types. (4)
(xi) Explain the different layers of the atmosphere. (5)

Question 2. Tick the correct answer:
(i) Which of the following gases protects us from harmful sun rays?

(a) Carbon dioxide (b) Nitrogen (c) Ozone.

(if) The most important layer of the atmosphere is

(a) Troposphere (b) Thermosphere (c) Mesosphere.

(iii) Which of the following layers of the atmosphere is free from clouds?

(a) Troposphere (b) Stratosphere (c) Mesosphere.

(iv) As we go up the layers of the atmosphere, the pressure

(@) Increases (b) Decreases (c) Remains the same.
(v) When precipitation comes down to the earth in the liquid form, it is called

(@) Cloud (b) Rain (c) Snow.

3. Match the following.



(i) Trade Winds (a) Incoming solar energy

(if) Loo (b) Seasonal wind
(iii) Monsoon (c) Horizontal movement of Air
(iv) Wind (d) Layer of ozone gas

(e) Permanent wind

(F) Local wind

4. Give reasons.
(i) Wet clothes take longer time to dry on a humid day?
(i) Amount of insolation decreases from equator towards poles?
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